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In the diagram are each installed on a different floor.Each PC has a
dedicated switch port.PCs 1,2,3,4 and 5 each belong to users in the
sales department.What would be the most effective solution that will
limit the propagation of broadcasts from these hosts and secure their
communications. The solution should allow for ease of
management,troubleshooting and scalability. A.Create a Sales VLAN
on each of the switches and assign the ports connected to PCs 1,2,3,4
and 5 to that VLAN B. Create a Sales VPN and use VTP across the
trunk links of the switches to propagate membership to PCs 1,2,3,4
and 5 C. Move PCs 1,2,3,4 and 5 to the 3rd floor,and disconnect the
3rd floor switch from the rest of the LAN D. Replace the switches
with routers and use ACLs to control traffic between hosts Select the
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